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CNSTRUCTIONS

4. Please correctly fill vour Roll Number
in O.M.R. Shest. Candidate will
themself be responsible for filling
wrong Roll No.

Al the start of the examination before

attemipling the guestion paper kindly

check your fest booklet and OMR

Answer Sheet and ensurs that ©

*  The seral numbers of test bookist
and OMR answer sheet are same.

* Al pages of test beoklet and OMR
answer sheel are propsrly printed.
All guestions from S.No. 1 to last
S.Mo. 108 are printed and pages
from S.No. 1 to last 5. No. 24 are
there in the guestion bookiet.

in case of any discrepancy / defect the

candidaie should immediately report the

matter {o the invigilator for replacement
of test booklet and OMR answer sheet.

Mo claim / obiection in this regard will

be entertained after five minutes of start

of examination. Candidate will be lable
for it.

3. Answer all guestions.

4. All guestions carry equal marks.

§. Only one answer is to be given for
each question.

6. If more than one answers are
marked, it would be treated as wrong
answer.

7. Each guestion has four alternative
responses marked serially as {A),
{B), (€}, {{). You have fo darken
only one circle or bubble indicating
the correct answer on the Answer
Sheet using BLUE BALL POINT
PEN.

8. Use of Mobile Phone/Bluetooth
Devices or any other electronic
gadget in the examination hall is
strictly prohibited. If any such
prohibited material found with any
candidate, strict action will bs taken
against him/her as per rule.

9. If there is any sort of ambiguity/
mistake either of prinfing or factual
nature in Hindi and English Version
of the question, the English Version
will be treated as standard.

Warning : If a candidate is found

copying or if any unauthorized material

is found in his/her possession, F.LR.
would be lodged against him/her in the

Police Station and he/she would liable

to be prosecuted under Section 3 of the

State Prevention of Unfair means Act,

1992 and Board Regulations. Board may

also debar him/her permanently from all

future examination of the Board.
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Valar is famous dance of ;
(A) Sansis (B) Bhils

(Cy Garasiyas (D) Charans

GIfES & uE T ¥

(A) witgal (B) o9&

(C) oot (D) et

Vansh - Bhaskar was written on the orders by rulers of which of the following state ?
(A} Kota (B) Jaipur

(C) Bundi () Bikaner

9T — WTRHY o1 T @ e ¥ ¥ @8l % ITEe & WY W w7

@K = (B) vy

©) =& (D) &t

Pichhawai paintings belong to which school of painting ?
(A) Kishangarh (B) Dhundhar
(C) Nathdwara (D) Bundi

o Romies feg fosee O ¥ w=fm § 2

(A) frees B)

(C) =rumra ©) &

According to Dr. Dasrath Sharma, folk deity Gogaji was contemporary of which
ruler 7

(A) Mehmud Ghazni (B) Mahammad Ghori
(C) Hiutmish (D) Alauddin Khilji
Frederar RIS, B S9RY I F ee ey awe ¥ wwEemE 9 7
(A) o T (B) == W

©) segafyr D) wasde Raw

During the revolt of 1857, where were Major Burton and his two sons killed ?
(A) Nasirabad (B) Aecranpura

(C) Jodhpur (D) Kota

1857 % foie & W Ao 939 ol Iu% & O wEf W A T 8 7

(&) THrEE (B) wTga

(C) igy D) =

2 [ PT.O.
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Who was the First Governor of Rajasthan ?
(A) Gurumukh Nihal Singh (B) Sampurnanand Shastri
{Cy Sardar Hukam Singh

ORI F 9YE USO8 7

(A) ToUE FEERE (B) wHuET s
(C) wEr g@aiiE (D) &R ArmERs

Raniji's Bawadi is located in which district of Rajasthan 7
{A) Bundi (B) Bikaner

(C)y Jaipur (D) Jodhpur

T @ IS T % fow e A Rag ¥ 7

@) @ ®B) T

~

(C) wuge (D) wEgR

Tomb of Musi Maharani is located in -

(A) Bikaner (B) Jodhpur

(C)y Alwar (D) Ramgarh
T TR @ s Rew ¥ -

(A) ¥wrR A (B) wiage o
(C) omet ¥ (D) e

Which of the following is a water fort in Rajasthan 7

{A) Achalgarh (Abu) (B) Lohagarh (Bharatpur)
(C) Gagron Fort (Jhalawar) (D) Chittorgarh (Chittor)
e f e sr-wwem A T @ ¥ 7

(A) orTE () ®) W (vE)

(€) WRE F () (D) ke (ReE)

Ajeet Singh of Marwar was the son of Maharaja .
{A) Jaswant Singh 1 (B) Indra Singh
(Cy Abhai Singh (D) Durgadas

IS B SSAE AERET F YA
(A) wweae 1 (B) s=RiE
(C) el (D) o

72 (2205) | zr%:; 3
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Arrange the following four Chauhan rulers in Chronelogical order and find the correct
answer from the codes given below :

(1) Vigraharaja - IV {2) Someshvara

(3) Prithviraja - II (4) Prithviraja - 111

Freien T dieT TG B BT % U wEiad B &?"{?%%’%VF%E@W}{

el v ghr -

() fEmow -1V (2) "E™EY

(3) gwERW - I 4y g=row - 1
Code / g2

A) (3, 4, (1), (@) B) 3) @), (L, ®

(O D, 2,614 D)y 1), G) @) @

Balathal is one of the historic places of Rajasthan which is situated in -
(A) Sikar (B) Udaipur
(C) Bhilwara (D) Hanumangarh

T e % UReive vl Y g um §, W % ¥ Rug Ty
(A) ¥t (B) w'agR
(C) searst (D) TS

Who among the following was a woman freedom fighter of erstwhile princely state
of Kota 7

(A) Anjana Devi (B) Narayani Devi

(C) Kamla Swadhin (D) Shanta Trivedi

Friefeg & @ @ woye ®er foma & aftar woear ey 8 7

(A) afsr &= (B) =rewmen &&

(C) @muen @relH (D) s BE

Who was the Chief Minister of Ajmer at the time of its merger in Rajasthan ?
(&) Balkrishan Kaul (B) Jawalaprasad Sharma

(C) Haribhau Upadhyay (D) Harbilas Sharda

e A ey & g ST @ geEa B ot 7

(A) IEHEW B (B) SowmEE 9m

(C) shers S (D) wUa™ aRE

From where did Motilal Tejawat launch Bhil Movement in July, 19217
(A) Jharole (B) Kotra

(C) Gogunda (D) Kherwara

ey, 1921 ¥ SR demaa ¥ 9 eiEwe ®el 4 oy fhar 7

(&) wEw (B) wmiest

(©) g D) Fw

[ P.TO.

16  Which of the foliowing is Not a breed of cow ?

{A) Tharparkar By Gir

{(C) Rathi (D) Murrah

fefm ¥ e e e i Y 7

(A) 9IS (B) B

(C) wd D) T
17 Which district of Rajasthan is prime producer of Bentonite 7

(A) Ganganagar (B) Barmer

(C) Jaisalmer (D) WNagaur

T & B9 N SErge @ Je IWEE §

(A) TR (B) s

(C) smmat (D) TR
18 Dabok Airport is situated at -

(A) Ajmer (B) Chittorgarh

(C) Udaipur (D) Jaipur

TEE FATRATE IRYT ¥ -

(A) emmT # B) Eemw o

(C) seage & (D) wgR #
1% Peelalda Lift irrigation project is located at -

(A) Dhoulpur (B) Sawai Madhopur

{(C) Bharatpur (D) Kota

drwae fvve fHeR O sefeg ¥ -

(A) dregR A (B) wars WEqY o

(C) wxage o D) @ H
20 The watershed of which of the following districts is categorized under Neeranchal

Project’ 7

(A) Jaipur (B) Jodhpur

(C) Kota (D) Jhalawar

o o @ fhw R o areds iew ufwiemr & ofgde smar & 7

(4) wage B) whuge

(C) =i D) e
T2 (2205) | 5
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Which of the following sanctuaries of Rajasthan is not located in Dholpur district ? 26
(A) Ram Sagar (B) Kesar Bagh

(C) Van Vihar (1) Shergarh

e ¥ ¥ s eEren TS § O e ¥ R i § 7

(A) T TR (B) &gT 9m
(C) =7 fmr (D) IE
The problem of salinity and alkalinity in soil is found at which place in Rajasthan ? 57
(A) Pali (B) Udaipur '
(C) Rajsamand (D) Dungarpur
oY ¥ war ¥ wenin @ e & e v e s ¥ 7
(A) T (B) wwg
©) T (D) TR
In Rajasthan expansion of desert is happening from direction.
(A) East to west (B) South to North 28
(C) West to East (D) North to South
TS o Aoww & (96 RmH S @y
(A) @ & ufyem (B) = @ W
(C) whaw 9 @ (D) ST ¥ e
: 29
The shifting agriculture in South - East Rajasthan is known by which of the following
names 7
(A) Wallra (B) Khallra
(C) Tapra (D) Jhumra
afeft — gl o &3 W Wi ey Prefvfeg F ¢ Bee T ¥ e e ¥ 7
(A) = 8) gmy
© @ ©) g o

Which ischyetal line divides Rajasthan State into two sections ?

ACy Alwar

In which of the following district of Rajasthan probiem of Gully Erosion is prominent 7
(A) Udaipur {(B) Sirohi

) (D) Kota

T W Frtwie e e A oremiven oTReT W wwen gead: Ry 7

(A) ST (B) fE
(C) ewET (D) &=

F

Which of the following district of Rajasthan is having minimum arca of forest cover 7
B) Churu
(D) Jalore

(A) Ganganagar
(C) Sirohi
SR % e ¥ ¥ e e A e el e § 7

(A) TR B) &
(€) Rl (D) "R

What is the length of land boundary of Rajasthan in Kilometer 7
TR B W@ 9 e Reariey @ ¥ 7

(A) 1070 (B) 869

(C) 826 (D) 5920

The plateau all located between Kumbhalgarh and Gogunda in Rajasthan is -

(A) Udia (B) Messa
(C) Bhorat (D) Abu
SR ¥ AT S MR 6 €9 B 9B § -
(A) sfea (B)
(©) wre D) e

Which of the following river of Rajasthan is not a part of Bay of Benga! drainage
system 7

&) 44 em ®) 460m (A) Chambal ®) Mabi
(C) 48cm (D) 50cm (C) Banas Q (D) Khari ‘
BE-T FEder @ T B o 9 ¥ faobe e b 7 et 3 & - T B S #E b o w1 AR E 7
(A) 4430 B) 463 (A) = (B) =
(C) 423 (D) 507w ©) s (B) e
1 6 [ PT.O. 72 (2205 | 7 [ PT.O
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34

A mass suspended to a spring has time period T. If spring is cut into two parts and
now same mass is suspended to one part of the spring, then what will be the new time
period 7

s T Y e om o oemee T ¥ |l fuw el @ sTee e o eewt U 9
¥ g §EEE WeHT § @rma@@%@mmﬁm?’

(A) 0302 T - (B) T

(C) 0707 T (D) 05T

The average energy density of electromagnetic waves is -

frgn g 9T @ AT el wE § -

2

3
% i ;oA 2
(A) {u}zEEE@ ®) (u)=cE,

2

3
) @) (u) =7 <&

3
© (u) =3¢k

An oscillator of frequency 200 Hz has damping coefficient 0.23 per sec., then what
is relaxation time ?

(A) 1.6sec. (B) 2.17 sec.

(C) 1.26sec. (D) 5 sec.

ey Sifer @ oTgia 200 Hz & au s Rutw 0.23 9k 3% &, o9 sitem ¢ 7
(A) 1.6 TFs (B) 2.17 9%=

(C) 1.26 vaE (D) 5 oS

Time period of a simple harmonic oscillator is -

TS I S SIee & SEae ol & —

A) Tzzzz(fﬁ) (B) T:Zﬂ:(f—»]
k m

(C) T=2=mn !}%

k
Vi (D) T—zﬁ&

72 (2205) ] %}:1 g [ PT.O.

__9
35 The reiation between electric field £ and electric potential V is -
%”gffa%saﬁ wd fogm R VS 99w ¥ -
- -
Ay E=VV _ B E=-VV
- -
C©) E=V*y Oy E=-V?V
36 The velocity of sleciromagnetic waves in a medium is given by -
Rt mem ¥ R g o @ 3 Rar e ¥ -
i L
A — B) —
HE €
1
. , B
(8) J—“ (D) J:"
He €
When U and € are the permeability and permittivity of the medium respectively.
Wt W e @ geesliwar, 9 € A @) Rrmsieer ¥
37 If laser rays of 50 watt are concentrated with the help of a lens at 10719 m? cross-
sectional area, then what is the value of poyenting vector ?
Tf 50 dle W WK [ @ oW B gewar EG‘szm%a’w%iéﬁmw%ﬂ%
qrifeT afeer @ AW wr R 7
(A) § % 10! w/m? (B) 5 x 107H wim?
(C) 2 x 10713 w/m? (D) 2 x 1013 wim?
38 If the distance between two charges is reduced to half, then the force between them
will be :
{A) the same (B) doubled
(C) tripled (D) quadrupled
gie & erasll & S W g B oren Y WY, O 6§ &7 g9 w67
(A) & B) 3T
(€) T (D) A
T2 (2205) ] 9 [ PT.O.




39 The lens used in Newton's ring is :

(A} Planoconvex iens

{C) Double convex lens

YT 9T H SUErT ¥ e T W ¥

(A) T oEEd T
(C) BT J9

40  Spell's law is given by —

= @ frog e e ¥
(A) p=sini Xsinr

sin ¥

€y u=

sin’

(B)

D)

Planoconcave lens

Diouble concave lens

fg—oreew o9

sinf

sin

cosi

CosF

Where i is the angle of incidence and ' ' is the angle of reflection.

Wl ' ua B ud ! SuEaE @il ¥

41 Wavelength of He-Ne Laser is :
He-Ne ®@T @1 aoreed § -

(A) 4238 A

(C) 6328A

(B)

D)

°
5328 A

]
7060 A

42 100 fringes are found shifted from vision region when moving mirror of Michelson
interferometer is moved by a distance .03 mm. The wavelength of light used is :

gy afgm A ¥ ield w5 0.03 mm Rraie a9 9 gRe 9 @ 100 Bh
e ) ¥1 vy oy & SR ¥

(A) 4000 A
(C) 30004

72 (2205) ]

[

B)

D)

L]

o]
5500 A
6000 A

[ PTO.
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44

45

46

47
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Schrodinger wave equation for particle of mass (m) fotal energy (&) and potential
energy (V) to given by :
T B, EEH FEEE () T wut (£) ud Rulaw s (V) &, & fog S ot g

R W ¥
2m 5 Zm""
B Vi Z (B-V)y=0 ®) ViyrigEy=0
©) V2y+2r_E)y=0 @) V22" gy =g
7 ﬁz AN 4 }22 ¥

- ., )
The vector operator 7, is equal fo :

v

—3
ity doe L SUST R E ¢
(A) —in2 (7% V) (B) i (
©) #2(FxV) (D) —ik(
The de Broglie wavelength of 1 MeV proton will be :
T | MeV WEH & d-§rer aoee el
(A) 28.7 A (B) 2.87 A
(C) 141x1072 A (D) 2.87 %1072 A

According to Rayleigh-Jeans radiation law, energy density is proportional to :

W-sire % fafeer FrorEr ol aee geeeR §
ONIRTES ®B) 1/a8
©) 1/a? @) /A3

What is the value of work function for sodium metal, where threshold wavelength is
6800 A 7 (given A = 6.62 x 10734 joule — sec)

SR u1g ¥ FR-waT @ AW w ¥, el deeh aoret 6800 A ¥ ?
(@l 7 = 6.62 x 10734 5@ Ywvs)
(A) 2.88eV
(C) 1.82 eV

(B) 5.82¢eV
(D) 4.62 eV

11 [ PTO.
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Which one of the following is not a lepton ?
(A} Electron (B} Nutrino

(C) Muon (D) Pion
= 4 ¥ @ e de TSy 7

(4) T (B) =i
(C) =g (D) wgaT

In cyclotron, the energy of particles is given by :

UEEASA ¥, B B HeT o R ¥

1, 1 gBR
Ay —my 1 A
A &) 5

1 ¢g*B2R2 1 ¢23R
© @ i

Where symbols have their usual meanings.

Wil fugl & e vafea a1 ¥

The main function of moderators in a nuclear reactor is :
(B) to slow down high energy neutron

(C) to distribute energy (D) to distribute mass
ot et APt ¥ #ow &1 9o B B © ¢
(B) <9 Sl I gIE! & 9 B B BN

(D) wemmW @ faala &

(A) 1o cool the reactor

(A) e & 3981 S

(©) ==t = fafw &on

The criterion for spontaneous fission is given by :

wa: frgves o a9 S T

2 2

@ s ® <
4 A
y 4

Where Z is atomic number and 4 is mass number,

WEl Z TiWe 1 I HAG 6K A FEEE g B

12 [ PT.O.

52 The radius R of a nucleus, whose mass number is 4, is represented by :
% AR, Wem weEm den 4 ¥, @ B R @ e 9@ @ enw Rear wmar
(8) R=ry A3 (B) R=r 43
(C) R=ry 423 (D) R=ry 43
where 7y I8 & constant.
5T 1y, TE Rad®m ¥
33 According to Rutherford scattering formula, the number of - particle arriving per
unit time at unit area at scattering angle g is proportional to :
EHR TN 9 & IER T B g & WY W o e &9ew 9T veinl
o~ B T TR §
(A) sin3(8/2) (B) sin?(8/2)
(C) ocosec’ (6/2) (D) cosec?(8/2)
54 Bragg's equation is given by :
S W GG faa e §
{A) 2dcos8=nh (B) 2dsin@=nh
(C) dcosG=nA (D) dsinf=nh
55 The value of the atomic radii of a bee crystal of lattice constant 4.889 A will be :
% bec fnew, aer wwe Froaie 4.889 A ¥, & v Bow @& 9 8 ¢
o o
(A) LI17 A (B) 2.117 A
(C) 3.117 A D) 4117 A
o . . ~
56 X-rays of wavelength 1.3 A are diffracted in a Bragg spectrometer at an angle of 30°
for second order. The spacing between the atomic planes of the crystals is -
S W ¥ 1.3 A Tew & X-feon @ iy eife @ fedw 30° $ior ) gy
(A) 2.6 A (B) 1.6 A
(C) 56 A (D) 3.2 A
T2 (2205) ] 13 [ BT.O.
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I

If the earth does not rotate on its axis, then the value of acceleration due to gravity
at poles ~

(A) will increase (B) will decrease

(C) becomes zere (D) remains invariant

o o o aie T PO A€ W 8, @ ga W e @ Bl ae -
(A) s (B) wwm

(C) s & s (D) &= @

The rate of change of angular momentum of a particle is equal to the -
(A) applied force to the particle (B} applied torque to the particle
(C) applied energy to the paiticle D) appii@é momentum to the particle

el wor & el €90 & 999 & @y Edy o oY §USY gl 5, 9F U W E 9 -

(A) sl S % (B) wEm @ g &
(C) wriEl =1 & (D) wrE&R €9 &
Curl of a conservative force is always -

(A) 0 B) +i

) -1 (D) infinite

Th EIE SN @ He S B § -

(A) I (B) +1

{C) -1 D) e/

Moment of inertia of a solid sphere about its diameter will be -

et 39 e @1 = & iy s el B
2

5

= MR? ~ MR?
A 3 ®) 7

7 3

— MR? = MR2
© < D) 5 MR

In two particle system if the masses of both particles are same, then the reduced mass
will be -

ofe T o & S S @ wHE @ B, O SO & BET -

(A) m/4 B) m/2

C) m/3 D) m

"o
=3
o

62

63

{(Cy 16 hours

The lattitude at certain place is 30°N. How much time will the vertical plane of the
Foucault pendulum take to rotate through 60° 7

(A) 12 hours (B} 24 hours

(1) & hours

TH W H A 300N T | e wwe ® v diee @ dew aa 60° g5 wRe 7
(A) 12 gwe (B) 24 g%

(C) 16 a= (D) 8 mu:

The efficiency of a Camot engine is 0.4. If the temperature of the sink is 27°C,
temperature of the source is -

T W gor oy agar 0.4 T 1 olt oud e o gomm 27°C ¥, & O o awe B —

Ay 200K (B 300K
(C) 400K (D) 500K
64 Specific heat of water is equal to -
o & Rifdre BeT ERl ¥ -
(A) 1 JkgoC (B) 1 kl/kgeC
(C) 4.18 Jkg©C (D) 4.18 Wkg©°C
65 During adiabatic compression of a gas, its temperature -
(A) rises (B) falls
(C) remain same (D) becomes zero
frdr fw % verw dded & <0, IE@T -
(A) weai (B) wea
(C) Rexmar & (D) = & 98
66 The internal energy of an ideal gas depends only upon iis -
(A) pressure (B) wvolume
(C) temperature (D) size of the molecules
aest g A et oot Mk e ¥ Reb s -
(A) T@ (B) @@ W
(C) ammE W (D) ompell & R T
T2 (2205 | 15 reT.0




67 A Carnot cycle contains -
(A) two isothermal processes only
(B) two adiabatic processes only
(C) two iscthermal and two adiabatic processes
(D) two isothermal and two isobaric processes
TF HE u9E W B § -
(A) ok o guard e
(B) & & o~ wed
(C) & vl o & TR TN
(D) & gward o & RN uE

68 Mean pressure of an ideal gas is equal to -
arrest T & Wy T IuEl ¥ -

NKT ZNKT
®) Sy B
NKT NKT
© —— ® Sy

69 Which medical instrument uses Doppler effect 7
(A) Echocardiography (ECG)
(C) Stethoscope (D) MRI machine
FHF-—ar fafear Sumte ST e @ TREW B § 7
(A) e (ECG) (B) swEETs AA
(C) warT

76 Velocity of Transverse waves in a stretched string is -

THI BF ST A TR T WER & 9N ¥ -

nrid Mg
@ % ®) 427
}Mg ;Mgrz
© yrrd ©) \ra

(Where symbols have their usual meanings)

(el dohal & g o ¥)

T2 (2205 ] % 16

(B) Ulirasound machine

(D) TH &K o "9

[ PTO.

71

73

For a2 monoclinic crystal system, the relation between the length of axis in unit cell
(a, b, ¢) is —

THIa feed e % WY e eiies @ omg weEdl (g, b, o) %S9 ¥y ¥

(A) a=b=c (B) a=bzc
© ab=c ©) azbee

What will be the crystal structure, if ¢ = 1.08 nm, 5 = 0.947 nm, ¢ = (.52 nm and
o=B=y=90° ?
(A) Triclinic

(C} Orthorhombic
s S E A, TR o= 1.08 nm, 5=0.947 nm, c=0.52 nm &K e =B=vy=90°% ?

(B) Monoclinic

(D) Hexagonal

(A) Prene (B) wHaE
(C) fowmes=ny (D) wemiy

If the energy of an electron in a band is given by E = 4+ BK +CK?Z, then its effective
mass is :

el Yo ¥ e B B E= 4+ BK+CK? T S oy ¥, shee o U SeHE S

K2 h?
A (Br2ck) B) 2cx
B2 B2
(< EE' (Q) Q(BJI_CF:}“

74 The viscosity of gases with increase in temperature.
(A) decreases (B) increases
(C) first decreases, then increases (D) first increases, then decreases
|l F T a9 e & WY -
(A) o= T (B) & ¥
(C) wew wedr & fi sl ¥ (D) uew wgar ¥ BT meE ¥
72 (2205) ] 17 [ PT.O.
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76

77

78

79

Elasticity of fluids is measured in terms of :

(A) Young's modulus of elasticity (B) Shear modulus of elasticity
(C) Bulk modulus of elasticity (D) None of the above

(A) 97 % UTEET YUiE % 9 A (B) SuEqY TR TONE & W9 §
(C) oo YaTerdr oG % B9 A (D) wulE ® ¥ BE T8

The mean free path (1) of molecules of any gas related to pressure (P) is :

est T & orpell @ wrey gEw W (M) W (P) @ d@fw ¥

B) Aer

1
A) Aoc—
(A) e
© ?wcw;z D) e p?

Diffusion may be considered as an example of phenomenon of :
(A) transport of mass (B) transport of momentum
(C) transport of energy (D) transport of velocity
foraoer = o 9 e ailgenT o SEETY AT ST 9O ©

(A) w=maE o S (B) @37 = o1y

() ==t & ot (D) 3 = e

The rate of effusion (J,) is related to temperature (7) by the following relation :

o & W (Jy) P d@dy g awEE () § ddfm b

(A) JyeT (B) Jy=AT
! 1
© Jo=7 ©) sy

The ratio of viscosities of two liquids flowing in two tubes is 4 : 3. The radii of the
tubes are in the ratio of 2 : 1. If the ratio of densities of liquids is 6 : 5 then the ratio
of critical velocities of liquids is —

&l 5 el samen o oru 4 ¢ 3 ¥, iwerel ® yaile 8w ¥, el Pl @ e
2:1% 9 g&f F Q@ & U 6:5 ¥, I€ wAl H WA® T B SIS ¢

(A) 10:6 B) 5:9

) 4:8 D) 1:4

72 (2208 | %% 18 [ PT.O.

80

° P « - - » - AY
Wave function for 2 particle motion in one-dimensional box is wyix J=.

when § <x < a, otherwise y(x)=0. The probability of finding this particle in range

0<x<(«i) i8
2

—
i . s 2 . [ nx
Um HI W % aN™ e ¥ iy % My ww wew ¥, ‘%?’(}J?:%';;Siﬂ[:f“] S

a

ayl . .
0<x<g, o yix)=0 | 58 &7 & 0¥ WK(g]ﬁmwﬁﬁ@‘%ﬁw{@%@r%:

(A) 1 B) 1/4
<y 12 (D) 3/4
81 The uncertainty relation between energy and time is given by :
Sl ot g9 % s siiga @ g9y G W §
(A) AEAt=h (B) Af/AE=h
(Cy AE A0 (D) AEfAt=h
82 Raman effect is observed for :
(A) scattering of light (B) reflection of light
(C) refraction of light () interference of light
TH THIS <@ W ¥
(A) w97 F B & Mg (B) 9IS & TUEES & T
(C) vyl & o9 ¥ g (D) vwalsT & =R & g
83 The wavelength of Paschen series for hydrogen spectrum is given by
{(where R is Rydbergs constant)
TEEN Wagd % MY WeE 9ol &) wened & Rl ¥ ¢ (@t R vl e §)
1 1t i o1
Y Sy -4 —
S [22 an ® 3 (32 an
1 11 i 11
PN A B & [ —
© 3 (42 an ) 3 [5 an
T2 (2205) ] i9 [ PT.O.




84 For a digtomic molecule the selection rule for combined vibrational and rofational

85

86

87

motions are .

T fxuems o) % fg, st o gt R % e frew ¥
(Ay Av

i

+1, AT = *1 (B Av =+1, AJ =0
(C) Av =0, AJ = 1 D) Av=0 A =0
Where v and J are the vibrational and rotational quantum numbers.

W&l v Hh wawed ge 9 J gl e e §

The wavefunction of Hydrogen atom in its ground state is given by :

AT ST ¥ BEgN 9O B T Bed R o §

i -
(A) Wigo = €+r/’a9 (B) Wioo= ?,___me r/’a{)
mg ,émg

I+ 1
0 T

Where ag is bohr radius.
WTEl q, ST B B ¥

The value of Bohr-Magneton {u B) is :

(A) 9.27 x 10724 Am?
(C) 2.97 x 10724 Am?

(B) 927 x 10% A.m?
(D) 2.97 x 1024 A.m?

Band spectra is produced when the unitting substance is in :
(A) atomic state (B) ionic state

(C) molecular state (D) bulk guantity
Iz Wl ST BT B, O S@9E B ol e g ¥
(A) uretaes oraear o (B) omafg oy o
(C) onfam s & (D) 9 WA

72 (2208) | % 20
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91

+

A paramagnetic material of magnetic susceptibility 2 X 1074 is placed in 2 magnetising
field 2.5 x 10% Amp/m, then intensity of magnetisation will be :

2 % 1074 vafe &1 oo emgmeE ol 2.5 % 10 Amp/m. % gEET 85 § @ ¥, g
eI

(A) 10 Amp/m. (B) 5 Amp/m.
(C) 0.005 Amp/m. (D) 15 Amp/m.

A circular loop of radius R carrying current /, then magnetic field at a distance Z from
its centre :
R B % TomR a, fred 7 um veha ¥, % ¥ ¥ Z 0 w fum Ry  geew 8w
H AN

2 f
_ B lR” @y p=tel
IR? . u,R?
(©) 3:__%....7 D) B=——%—p
2(@ +7 ) 2(}%24-22)

Unit of atomic polarizability is :

(A) Farad (B) Farad — m?
(C) Farad/m? (D) Farad — m

IR GEYTET B WG B §

(A) % B) ¥E - A
(€) e/ (D) %E -9

The logic symbol shown in figure, represents :

g,. -

(A) Single cutput AND gate
(B) NAND gate

(C) NAND gate used as NOT gate
(D) NOR gate

(B) NAND =X
(C) NOT g & 3§ &1 & 9@ NAND gR
(D) NOR ®X

72 (220 | f_—%u 21 [ PT.O.
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95

The only function of a NOT gate is to :

(A) stop a signal (B} reduce a signal
(C) invert an input signal (D) act as a universal gate
NOT 3% & % 7 &1 §

(A) Ea & e (B) ¥wa @ ®F B

(C) Tash ¥oa = ghmita s (D) el a7 F 9 ey e

Kirchoff's current law is equivalent to :

(A) Energy conservation law (B) Charge conservation law
(C) Resistance conservation law (D) Voltage conservation law
fpceTw @1 U w e g T

(A) St §TET F NUE B (B) oSt gae & Fm %
(C) wiuty ¥X8w & Fow & (D) <wea XY & ME9 6

The necessary condition for an oscillator to start is :

SIS @ YT B % WU ey Ry §

(A) 14B|>1 (B) 14B|=1

(©) |4B<I (D) 14B|=0

Where A is the gain of an amplifier and B is the feedback fraction.

W&l A yeie @ Wiy wd B ogEiesh e ¥

Which relation is correct for RC phase-shift oscillator ?

RC wor-fue aifes & A B 9dy aer &7

- -
A7 ®) /= 5ke
© S @) S

" 23i0 nkC "7 T dRC

72 (2208) | c%% 22

[ BTO.

96

97
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99

100

72 (2205) | E:{?m 23

‘What will be the base current for a transistor in common base configuration where
o =0.95 and voltage drop across 2 k() resistor, which is connected to the coliector
is 2V 7

Ry ittt & owafs onar fomaw ® oy 9T & U W RN W o0=0.95 ¥ el
ToEs % WY TS 240 % IROY 9T dRed a2 e § 7

(B) ~25u4

(A) =~100u4
(C) =50ud (D) ~75u4d

According to Boolean Algebra, what is the value of 4+ 48 7

T SR § SEER 4+ 4B & N w87

(A) B (B) A+ B

(C) 4 (D) AB

In holography :

(A) convex lens is used. (B) concave lens is used.

(C) plano - convex lens is used. (D) lens is. not used.

TS A

(A) wo W€ B 99T ST 8 | (B) oremw WF @ YU B §

(C) uwawad Wg H TG Sl § | (D) w9 & STUET TR BT R

Two ccherent sources for interference in thin films are obtained by
(A) division of wavefront (B) division of amplitude
(C) both the above methods (D) polarization of light

e e # =freer & My S s oeE 9e T Y 9w §
(A) T ¥ fawew 8]

(C) vt = faimt g

(B) o™ & RwE B

(D) v & gEGTT &N

According to Stoke's law, what is the change in phase when a wave get reflected from
an interface backed by a denser medium ?

wen % FOEEE e 9 W owes e ¥ M U8 31 WEkH o 9 Al 3 fha
IRETT B § 7

(A) 2m
(C) m/2

(B) =

(D) 0



